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The program produces the following output:

6.5
"123456"
true
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Colonel Mustard in the ballroom with the candlestick
conservatory in the study with the wrench
candlestick in the Colonel Mustard with the Mr.

Professor Plum in the ballroom with the Mrs.

Method Call

Output Produced
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ifElseMystery (3
ifElseMystery (7,
ifElseMystery (5
ifElseMystery (1l

Method Call
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Point

Point
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mystery (5, 20);
mystery (30, 48);
mystery (17, 4);
mystery (9, 9);

+ =+ =+ — + — + — +

+—+— 4+ — +— + — +

count > O

_____________________ _|_
never |
_____________________ _|_
sometimes |
_____________________ _|_
always |
_____________________ +
sometimes |
_____________________ _|_
sometimes |



6. Two possible solutions are shown below.

public static void generateGrades (Random r, int num) {
int grade = r.nextInt (21);

int total = grade;

int min = grade;

System.out.print ("grades: " + grade);
for (int 1 = 1; 1 < num; i++) {

grade = r.nextInt (21);
total += grade;
if (grade < min) {
min = grade;
}
System.out.print (" " + grade);

}
System.out.println();

System.out.println ("min grade: " + min);
System.out.println ("total points: " + total);
System.out.println ("average grade: " + (double)total / num);

public static void generateGrades (Random r, int num) {
int total = 0;
int min = 21;

System.out.print ("grades: ");

for (int 1 = 0; 1 < num; i++) {
int grade = r.nextInt (21);
total += grade;
min = Math.min (grade, min);
System.out.print (grade + "™ ");

}

System.out.println();

System.out.println("min grade: " + min);
System.out.println("total points: " + total);
System.out.println ("average grade: " + (double) total / num);



7. Two possible solutions are shown below.

public static double countVotesFor (String candidate, Scanner console) {
double myVotes = 0;
int totalVotes = 0;

System.out.print ("Candidate? ");

String vote = console.nextLine();
while (!vote.equalsIgnoreCase ("done")) {
if (vote.equalsIgnoreCase (candidate)) {
myVotes++;
}
totalVotes++;

System.out.print ("Candidate? ");
vote = console.nextLine () ;

double pct = myVotes / totalVotes * 100;
System.out.println(candidate + " received " + pct + "% of the " +
totalVotes + " votes cast");

return pct;

public static double countVotesFor (String candidate, Scanner console) {
int myVotes = 0;
int notMyVotes = 0;
String vote = "";

while (!vote.equalsIgnoreCase ("done")) {
System.out.print ("Candidate? ");

vote = console.nextLine();

if (vote.equalsIgnoreCase (candidate)) {
myVotes++;

} else if (!vote.equalsIgnoreCase("done")) {
notMyVotes++;

double pct = 100.0 * myVotes / (myVotes + notMyVotes) ;

System.out.println(candidate + " received " + pct + "% of the " +
(myVotes + notMyVotes) + " votes cast");

return pct;



8.

Five possible solution

s are shown below.

public static boolean sameDashes (String strl, String str2) {

for (int i =
if (strl.

if (1

r

}
}

for (int 1 =
if (str2.

if (1

r

}
}

return true;

0; 1 < strl.length(); i++) {

charAt (i) == '-") {

>= str2.length() || str2.charAt(i) !'= '-")
eturn false;

0; 1 < str2.length(); i++) {
charAt (1) == '-") {
>= gstrl.length() || strl.charAt(i) != '-")

eturn false;

public static boolean sameDashes (String strl, String str2) {

String longer

String shorte

int length =

if (str2.leng
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shorter =
length =

}

for (int i =
if (longe
if (i

= strl;
r = str2;
strl.length{();

th() > strl.length()) {
str2;

strl;

str2.length();

0; 1 < length; i++) {
r.charAt (i) == "'=-") {
>= shorter.length() ||

return false;

}

} else if

(1 < shorter.length()

return false;

}
}

return true;

shorter.charAt (1) !=

&& shorter.charAt (i)



public static boolean sameDashes (String sl, String s2) {
int length = Math.min(sl.length(), s2.length()):;
boolean bad = sl.substring(length).contains("-") ||

sZ.substring (length) .contains ("-");
for (int i = 0; i < length; i++) {
if (sl.charAt (i) == '-' && s2.charAt(i) != '-') {

bad = true;

} else if (sl.charAt(i) != '"-' && s2.charAt(i) == '-")

bad = true;
}
}

return !bad;

public static boolean sameDashes (String strl, String str2) {

int 11 = strl.indexOf('-");

int 12 = str2.indexOf ('-");

while (il != -1 || i2 != =-1) {
if (41 !'= 12) {

return false;
}
strl = strl.substring (il + 1, strl.length());
str2 = str2.substring(i2 + 1, str2.length());
il = strl.indexOf('=-");
i2 = str2.indexOf('=-");
}

return true;

public static boolean sameDashes (String sl, String s2) {
String r1l = "", r2 = "";
for (int 1 = 0; 1 < sl.length(); i++) {
if (sl.charAt (i) == "'"-") {
rl 4= "." 4+ 1i;
}
}
for (int i = 0; i < s2.length(); i++) {
if (s2.charAt (i) == "'"-") {
r2 += "." + 1i;
}
}

return rl.equals(r2);



